Dealer Info:

DURABILITY INNOVATION



50" BOOM FLAIL

50" BOOM FLAIL

1 34786 Capscrew
2 672419 Hex Nut

3 34782 Clevis

4 41725.01 Spacer

5 34780 Knife

LBG Assembly

1 34786 Capscrew

2 672419 Hex Nut

3 06420182 Collar Bushing
4 06420183 Spacer

5 06521007 Knife (2)

50" BOOM FLAIL

AT, o ©

MBG Assembly

o0

1 33854 Capscrew
2 32674 Hex Nut
3 33858 Spacer Collar

O -

4 33857 Shoulder Bushing

5 46399.01 Knife

WWW.TIGERMOWERS.COM

HDB Assembly




63" BOOM FLAIL

1 34011 Capscrew
2 21677 Hex Nut

3 TF1020 Clevis

4 33713 Knife (2)

FLANGE BEARING BELT FOR 50" IDLER PULLEY
GROUND ROLLER BOOM FLAIL (2) 50" BOOM FLAIL
1-3/8" Part # TF3021 Part # TF3034
50" BOOM FLAIL

Part # TF1022

FLANGE BEARING
GREASE HOSE

FLANGE BEARING
CUTTER SHAFT

STRING GUARD
CUTTER SHAFT

50"BOOM FLAIL 2 -3/16” 50"BOOM FLAIL
Part # 31204 50"BOOM FLAIL Part # TF1032
Part # TF1018

See Local Dealer for Pricing

:

Grass Only
Assembly

DEFLECTOR FLAP
50" BOOM FLAIL

Part # TB1006A

SKID SHOE
50" BOOM FLAIL
Part # TF3001



1 06770003

2 6T1023R

3 34878

4 06538000

5 06521001

6 33764

7 612259

8 06521002

1 06400388

2 06521001

3 06538000

4 06533002

5 6T1023R

6 612259

7 33764

BENGAL - RT50B, RT50B-SW

Mounting Disk
Nylock Hex Nut
Spacer

Knife Bolt

TRB 5/8” Knife
Flatwasher
Capscrew

Optional Grass Knife

Blade Bar

TRB 5/8” Knife
Knife Bolt
Flatwasher 1 1/8”
Nylock Hex Nut
Capscrew

Flatwasher- 5/8"

WWW.TIGERMOWERS.COM



BENGAL - RT60B, RT60B-SW

1 06400690

2 6T1023R

3 06533002

4 06521001

5 06538000

6 33764

7 672259

Blade Bar
Nylock Hex Nut
Flatwasher 1 1/8”
TRB 5/8” Knife
Knife Bolt
Flatwasher

Capscrew

BENGAL - RT60DG

1 34876 Mounting Disk

2 6T1023R Hex Nut

3 34878 Spacer

4 34684 Standard Grass Knife
5 34685 Option- High Suction Knife
6 34497 Knife Bolt

7 25270 Flatwasher

8 6T2259 Capscrew

5 0

L
o=

Verify Your exact mower parts before ordering



SABER - RT50SD

06770001

6T1023R

34878

06538000

06521001

33764

672259

06521002

Mounting Disk

Nylock Hex Nut

Spacer

Knife Bolt

TRB 5/8” Knife

Flatwasher

Capscrew

Optional Grass Knife

SABER - RT50B-XB-S

1

WWW.TIGERMOWERS.COM

06400388

06521001

06533005

06533005

6T1023R

612259

33764

Blade Bar

TRB 5/8” Knife

Knife Bolt

Flatwasher

Nylock Hex Nut
Capscrew

Flatwasher




SABER - RT50S

1 34509
2 33203
3 34883
4 33859
5 33860
6 34457
7 PT209

Blade Bar
Knife

Knife Bolt
Flatwasher
Hex Nut

Hex Capscrew

Key

SABER - RT60S, RT60B-XB-S

1 06400690

2 6T1023R

3 06533002

4 06521001

5 06538000
6 34497
7 612259

Verify Your exact mower parts before ordering

Blade Bar
Nylock Hex Nut
Flatwasher 1 1/8”
TRB 5/8” Knife
Knife Bolt
Flatwasher

Capscrew




ROTARY SPINDLE - EXCLUDING TSR AND SABER RT50S

671031

Sprocket
2 6T1016 Bearing Lock Nut
3 22596 Jam Washer

4 6T1015 Bearing Adj Nut

5 671014 Bearing Adj Sleeve
6 671011 Upper Seal (2)

7 671012 Bearing

8 6T1013 Bearing Cup

9 6T1010H Spindle Housing
10 30570 Fitting St Elbow
11 06505362 Grease Zerk

12 6T1013H Bearing Cup

13 6T1012H Bearing Cone

14 6T1011H Lower Seal
15 671019 Spindle Key
16 PT1018H5 Spindle

17 06503064 O-Ring Plug

SPINDLE ASSEMBLY SPINDLE ASSEMBLY SPINDLE ASSEMBLY SPINDLE GREASE
BENGAL BOOM SABER BOOM RT50S TSR SIDE & REAR MOBILITH SHC 220
& ROTARY HEADS Part # 33219 ROTARY Part # 06540000
Part # 6T10245H5 Part # 34980

Breakdown Picture Above

WWW.TIGERMOWERS.COM



SIDE & REAR ROTARY
TM60, TSR60, TM72

1 34876 Mounting Disk

2 6T1023R Nylock Hex Nut

3 34878 Spacer

4 34497 Knife Bolt

5 34685 60" Knife High Suction STD
6 34684 Optional 60” Knife
7 6T2259 Capscrew

8 25270 Flatwasher

9 34682 72" Knife

| [

COVER COUPLING KIT SIDE ROTARY SPINDLE CHAIN COUPLING SIDE ROTARY MOTOR
BENGAL BOOM AND T™M SPROCKET BENGAL BOOMAND TM  SPROCKET
Part # 6T1033 1-1/4” Bore Part # 6T1029 1-1/4” Bore
BENGAL BOOM AND TM BENGAL BOOM AND T™M
Part # 6T1031 Part # 21223

See Local Dealer for Pricing



SUPER DUTY SIDE & REAR FLAILS

34011

21677

TF1020

28184A

Super Duty Smooth Cut

SUPER DUTY SIDE & REAR FLAILS

FLANGE BEARING
CUTTER SHAFT
SUPER DUTY SIDE &

© o

34011 Bolt

21677 Nut

TF1020 Clevis

33713 Knife (2)

FLANGE BEARING BELT
GROUND ROLLER MULTIPLE SD BELTS
SUPER DUTY SIDE AND CONTACT TIGER FOR

REAR FLAIL - 1 15/16” REAR FLAIL -1 3/8” YOUR SPECIFIC BELT

Part # 28683

Part # 06520028

WWW.TIGERMOWERS.COM

o
o°

Super Duty Standard Cut

GROUND ROLLER
BEARING KIT
SUPER DUTY SIDE &
REAR FLAIL

Part # 06770002



EXTREME DUTY SIDE & REAR FLAILS

FLANGE BEARING
CUTTER SHAFT
EXTREME DUTY SIDE &
REAR FLAIL - 2 3/16”
Part # TF1018

1 34011 Bolt

2 21677 Nut

3 TF1020 Clevis

4 33714 Knife (2)

EXTREME DUTY SIDE & REAR FLAILS

1 34011 Bolt
2 21677 Nut
3 TF1020 Clevis
4 TF1019F Knife

FLANGE BEARING
GROUND ROLLER
EXTREME DUTY SIDE
AND REAR FLAIL -1 3/8”
Part # 06520028

Extreme Duty Standard Cut

BELT

MULTIPLE ED BELTS
CONTACT TIGER FOR
YOUR SPECIFIC BELT

GROUND ROLLER
BEARING KIT
EXTREME DUTY SIDE &
REAR FLAIL

Part # 06770002

Verify Your exact mower parts before ordering



SAW BLADE TOOTH SAW BLADE TOOTH TIP ~ SAW BLADE RIVET SAW BLADE RIVET
WITH RIVOT Part # 34702 Part # 34702 REMOVER TOOL
Part # 06520225 Part # 34704

MULCHER TOOTH SKIDSHOE SKIDSHOW BEARING

(30 Total per Head) MULCHER - LH MULCHER - RH CUTTER SHAFT
Part # 06744086, Part # 06412076 Part # 06412061 MULCHER
CAPSCREW Part # 06520089
PART# 21633

BELT HYDRAULIC TANK SKIDSHOE FLAP DEFLECTOR
MULCHER HEAD RETURN LINE FILTER VARIOUS SKIDSHOES VARIOUS FLAPS FOR
14mmx1120mm 10 MICRON DESIGNED FOR MANY DIFFERENT HEADS
Part # 06520602 Part # 35259 HEADS- CALL FOR YOUR CALL FOR YOUR
SPECIFIC SKIDSHOE SPECIFIC FLAP

Since 1968, Tiger has engineered and manufactured Tiger products that meet
current ASTM safety guidelines. Contact your local Tiger dealer for all Tiger parts.

WWW.TIGERMOWERS.COM 1-800-643-8849




